HYDRAULIC SUPPORT CLAMPS | jHEEZISEIZSI

CSP

B 37 $5 £1

CSP HYDRAULIC
SUPPORT CLAMP

EmTE
*SXEN BT AERAREBNIRES, #MELES
T8,

KMIBIRERER . BPHLLSELARR BN EENNEE
BMms BEAFBAR, BRI ASIEERILETTREE.
TREZAHFEEMNRELR. (BH#E2%/E0.3 ~0.5MPa)
*ERECERE: JRkERHEERNBERIRE, #8
i,

RER EFEY:

TEERYNAIRREA T, HHSMEREIRER LA IR T IHE
BUEREFLL, EELEEEREIFRIRERNREZ DN
EER, BEERELURENSIE I,

FBE FFAL:

EERIGIRES T, STHRERNEER LRTHNESE
M NPT EIERE, RS MBI BRI R N
EER, (EEERELISERSIETH.

EEDHERENEIRF

A i w3
3 0.2
CSP-26 7 04
10 1
5 04
CSP-30 7 1.6
10 34
5 0.2
CSP-36 7 2
10 24
3 0.6
CSP-45 7 34
10 4

RIS AR REI4mm ~ SmmZ S AdEiE

089 | S HEE RS

0.2
0.6
1.2
04
1.8
34
0.2

24
04
32
42

—_—
——

.ff

it

i

i

rm

CSP-30BLP CSP-30BLK

FEATURES

High Supporting Force: The gap between the plunger and the
collet is expanded to improve its overall performance, resulting
in a higher supporting force.

Cutting Fluid Cleaning Countermeasures: To prevent improper
operation caused by high-pressure coolant and chip dust from
entering the internal structure, air cleaning can be performed in
the exhaust hole when replacing the workpiece. Air cleaning
requires a specific air pressure circuit (recommended cleaning
air pressure at 0.3~0.5MPa).

Universal piping base: The CSP series is compatible and
interchangeable with Japanese branded cylinders that are
currently on the market.

Hydraulic Pressure Rising Type:

The initial state of the piston rod is down. When the oil pressure
is supplied, the piston rod rises and stops once contact is made
with the workpiece at any position. During this period, the
hydraulic pressure on the collet can grip the plunger with
stronger power to generate the supporting force.

Spring Rising Type:

The initial state of the piston rod is up, and the workpiece is
placed on the piston rod and dropped to a certain distance due
to the weight of the workpiece. During this period, the hydraulic
pressure on the collet can grip the plunger with stronger power
to generate the supporting force.

Unit:kgf

5 6 7
0.2 0.2 0.2
0.6 0.6 0.6
1.2 1.2 1.2
04 04 04
16 1.6 16
34 3.6 3.6
0.2 0.2 0.2
2.2 2 2
24 24 24
04 04 04
34 34 32
44 42 42

ST 18I0

1000
CSP-45
900
800
“§ 700
E’é o CSP-36
I é 500
%5; 400 CSP-30
ﬁ% = Csp-26
= 200
100 — —
/
0
2 25 3 4 5 6 7
JHEE (MPa)
Oil pressure (MPa)
XAERTEFREEMRME FIIF.
#JE&1Ei% ORDERING INDICATION
f5: CSP-30BLK(MH)
CSP %% Series CcSP
30 (HEME M26x1.5
Oil cylinder
M30x1.5

external diameter

A: 5EE ERA
B A= Type

L 3% Pressure {KEE7MPa
K: K Type
K k=, Format o219 e
. . HESCER: AZHERY
M ST Air sensing type Mt
TEEEEE ] SRR AEHERY

Piston spring force

MR 2805 SPECIFICATION

me o (B wee e EmecE

Moo treNoL SRSy CLOUNER IS PO 10 smoe
CSP-26 300 0.5 02~04 6.5
CSP-30 400 0.7 04~0.6 8
CSP-36 550 0.8 03~05 8
CSP-45 950 23 03~0.6 10

(EFmES . EEREYHEREE (FBERISO-VG32)

KIAG B BRI R B RS, 2 T (505 /1250, P FRRISTF IS
Bz AR EIEI&Fh1.5E L 5B R SRILRCAIS IS HT B
REHL,

K2TEER L BENINMERTEERGHE, ZETEEEREH
PEY]. sESRHEEMAELE—ERIRE T L ESENR2E(E,

B: IR _EFHEY(1RE)

SREEEERRIE

40 CSP-45

Csp-3 /

CSP-30
30 CSP-26

20

vd

U (um)
Piston displacement (um

.

0 100 200 300 400 500 600 700 800 900 1000

a7 (kgf)
Load (kgf)
XABFRTEAETHETMPalf4 NHIEFREETEX.

M36x1.5
M45x1.5

A: Spring rising type
B: Hydraulic rising type
(standard)

Low pressure 7MPa

Unmarked: Standard type
M: Air sensing type
Unmarked: Standard type

H: 3838 EE GTBERIS K =a4:A)) H: Strong spring (please call for consultation before ordering)

EEREN  RIEERED RABMIER ERRE HBHE

MAXIMUM WORKING ~ MINIMUM WORKING ~ ENSURE OVERPRESSURE OPERATING Quality

PRESSURE (MPa) ~  PRESSURE (MPa) -RESISTANT (MPa) TEMPERATURE (‘C) (kg)
7 2.5 10.5 0~70 02
7 2.5 10.5 0~70 03
7 2.5 10.5 0~70 04
7 2.5 10.5 0~70 0.7

Recommended:  1SO-VG-32 hydraulic oil equivalent to ISO viscosity grade

X 1 When the support damp and ¢ylinder clamp are used opposite from each
other, the supporting force must be 15 times the amount of the damping force
and cutting load in order for the support clamp to work sufficiently. Please
check the compatibility of the support clamp and cylinder damp when selecting
parts.

X 2: The plunger spring force indicates the spring design value. It may vary
depending on sliding resistance of the plunger and characteristic of the spring,
etc. Please use the rising spring force as a reference value.

PNEUMATIC & HYDRAULIC CLAMPS | 090



CSP-ALKBEASHSEI /MR T B

S2ALL
(TEEITE)

(S

Min. 20

Max. R0.4

adliEg"

091 | EHEBHES

of we
!
15°
|
[a)
@)
o
<C
O
0F-8.1 OREIEB
e~
\ \
T
) B &i
‘l\
\ /
W
ZEAMTE
PREIK
BAOT.o1 %2
C1 —
| ORYBECK3
C0.2
‘ |
Heg A
Max. @S Max. 9P

VEEERFE

@FA+0.05 SR50

o
Q
o

ORYBIEA \ O
| L
7 ‘ o)
2L | o T
|
I
IOFE ~
Q-Q
FREIE:

X1 HERFLVERARRN, BEEEHIDSANE.
YIBESRNEIRERE.

X2 LA IR BRA R E RS NN TE3.2SLA T,
X3 MIERIOBB ECELERIZESLNA.

NOTE:

X: Vent hole must be open to the atmosphere, and
attention should be paid to prevent coolant, chip dust
and other intrusions into the cylinder body interior.

X2: The maximum surface roughness of the bottom of
the installation hole shall be processed below 3.2S.

%3: The attached O-ring EC should be installed in the
installation hole.

CSP-ALKGHBESTFFI /MU R G R LEZBAII TR I

8155 Model No CSP-26ALK
A 482
B 57
C 63
D 725
OE 10
OF 243
G 84
H 24
J ((EEIRHER) 8
K (A TBEEXIZIE) M26X1.5
L (ATEEEXIZIE) M6X1
oM 9.5
N (#ER) 8
P 26
a@s 75
a1 24.5
U 9
OFA 45
FB 15
FC 3
FD 75
OFE 35
OB!EEA (FiREE FEEHs70) S5
OBIEEB (FiKHE MEEHs90) AS568-013
OBEEC (FIKE TEEHs90) AS568-020

FREIE:

1. FEWREEES, SAITIHEEEESEISIETH, BRERIES,
FERIEEEE, KREOLEE, FHLERIHEIORE, BAIIIRER
WENREEEAEE, SEEHFRRSE.

2. AFESRTHEEER, AR NMRRESEEHEFE.

3. WMROHERIERER, FHLSRAER FNORERE, FrEEER
EthORBEIRY, EERERAALEIHEEHE.

4, BETHREMTHNERT, SRIEEREEEETY, SAEEITH
WIRFEAIRES,

5 RIS RERERE, BUHHRE, SRITERSEMERAEN.

6. RERE LTHREIRR, SENEEEEETHRHRMENRS, I
EEREERRER, EESERTHTHEEEREITMEE, BNABE
HEIR, FERBERREEH AR EEEN EAEEERE, LIEE EF
ENFISEIEO.S ~ 1L E, IHERESERET M EREHEEGRERE
BRNER.

7. E(EFRFIESR0.1MPaLATAIFEE MR EREER. WRRRIR
BhiEs, EiEEEREAEaL.

Unit:mm
CSP-30ALK CSP-36ALK CSP-45ALK
51.7 49.7 59.2
62 58 71
69 65 78
81 77 92
12 15 16
282 342 43.2
94 94 9
27 32 41
10 13 13
M30X1.5 M36X1.5 M45X1.5
M8X1.25 M10X1.5 M10X1.5
11.5 12.5 12.5
10 11 11
3 3 3
9 9 9
28.5 345 435
11 13 16
6 7.8 7.8
1.9 1.9 19
4 4 4
43
S6 S8 S8
AS568-014 AS568-014 AS568-015
AS568-022 AS568-026 AS568-030
NOTE:

1. Be sure to install the cap. Otherwise, the workpiece will not be able to
support the workpiece in contact with the spring. When the user makes the
cap, please refer to the Cap Detailed Drawing and set O-ring groove. Please be
sure to use the attached O-ring. Otherwise, foreign bodies such as coolant wil
intrude into the cylinder body and cause abnormal operation and other faullts.
2. The Company does not guarantee the correct action of the piston rod
when the user makes the rising spring by himself.

3. If the O-ring is damaged or lost, please refer to the specifications of O-ring
in the catalogue, and do not change other O-ring sizes arbitrarily. If necessary,
please contact our Company.

4. In the case of light and thin workpiece, please fix the workpiece temporarily
according to the demand, otherwise the workpiece will be damaged.

5. The retum of cleaning air pressure will cause the piston rod to be unable to
reset if air is supplied all the time.

6. If the piston rod rising speed is too fast, it will cause the phenomenon of
rebound when the piston rod contacts the workpiece, and damp at the
rebound position, which will cause the gap or impact between the piston rod
and the workpiece, leading to the damage of the internal parts. Please adjust
the rising speed of the piston rod through one-way flow control valve so that
the rising action time is more than 0.5-1 second, and confirm that there is no
gap and impact between the piston rod and workpiece before putting into use.
7. Please use a flow control valve with a one-way valve under the opening
pressure below 0.1MPa. If the opening pressure of the valve is too high, the
piston rod cannot be reset when released.

PNEUMATIC & HYDRAULIC CLAMPS | 092



CSP-BLK;HEZIZEIMEIRTE

oE i
AL L
((EEIRTER)
{
15°
BB !
fa)
O
on
<
0
—d
0 : =
aF-0.1 ORJEEB
s ey
\ \
T
PR R —_ &i
S — ’l\
| /
W
TEIMTE
124K
BAOT o013 %2
C1 U %
(- ‘ ORUBECK3
é é C0.2 |
21 328 ;
i
Max. R0.4 ‘
- e
Max. @S Max. oP

093 | &M E & R 5

VEEERFE

@FA+0.05 SR50

ORYBIEA \ O
| L
i o g
—_—— ‘ L
|
I
IOFE ~
Q-Q
FREIE:

X1 HERFLVERARRN, BEEEHIDSANE.
YIBESRNEIRERE.

X2 LA IR BRA R E RS NN TE3.2SLA T,
X3 MIERIOBB ECELERIZESLNA.

NOTE:

X1: Vent hole must be open to the atmosphere, and
attention should be paid to prevent coolant, chip dust
and other intrusions into the cylinder body interior.

X2: The maximum surface roughness of the bottom of
the installation hole shall be processed below 3.2S.

%3: The attached O-ring EC should be installed in the
installation hole.

CSP-BLKHESTIBFT /MU R R eI TR IR

1% Model No CSP-26BLK
A 482
B 57
C 63
D 66
OF 10
oF 243
G 84
H 24
J (EEREER) 8
K (ATEEREXIZIE) M26X1.5
L (EEEXIZEE) M6X1
oM 95
N (#E28) 8
oP 26
@s 75
oT 245
U 9
OFA 45
FB 15
FC 3
FD 75
OFE 35
OB!EIEA (FUSEE F@EHs70) S5
OREEB (FiSHR MEREHs90) AS568-013
OBEEC (ISR M@EHs90) AS568-020

FREIE:

1. FEWREEES, SAITIHEEEESEISIETH, BRERIES,
FERIEEEE, KREOLEE, FHLERIHEIORE, BAIIIRER
WENREEEAEE, SEEHFRRSE.

2. AFESRTHEEER, AR NMRRESEEHEFE.

3. WMROHERIERER, FHLSRAER FNORERE, FrEEER
EthORBEIRY, EERERAALEIHEEHE.

4, BETHREMTHNERT, SRIEEREEEETY, SAEEITH
WIRFEAIRES,

5 RIS RERERE, BUHHRE, SRITERSEMERAEN.

6. RERE LTHREIRR, SENEEEEETHRHRMENRS, I
EEREERRER, EESERTHTHEEEREITMEE, BNABE
HEIR, FERBERREEH AR EEEN EAEEERE, LIEE EF
ENFISEIEO.S ~ 1L E, IHERESERET M EREHEEGRERE
BRNER.

7. E(EFRFIESR0.1MPaLATAIFEE MR EREER. WRRRIR
Bhides, EHESEEEmEmAEin

Unit:mm
CSP-30BLK CSP-36BLK CSP-45BLK
51.7 497 59.2
62 58 71
69 65 78
73 69 82
12 15 16
282 342 432
94 94 9
27 32 41
10 13 13
M30X1.5 M36X1.5 M45X1.5
M8X1.25 M10X1.5 M10X1.5
11.5 12.5 12.5
10 11 11
3 3 3
9 9 9
285 345 435
11 13 16
6 7.8 78
19 19 19
9 9 9
43 5
S6 S8 S8
AS568-014 AS568-014 AS568-015
AS568-022 AS568-026 AS568-030
NOTE:

1. Be sure to install the cap. Otherwise, the workpiece will not be able to
support the workpiece in contact with the spring. When the user makes the
cap, please refer to the Cap Detailed Drawing and set O-ring groove. Please be
sure to use the attached O-ring. Otherwise, foreign bodies such as coolant wil
intrude into the cylinder body and cause abnormal operation and other faullts.
2. The Company does not guarantee the correct action of the piston rod
when the user makes the rising spring by himself

3. If the O-ring is damaged or lost, please refer to the specifications of O-ring
in the catalogue, and do not change other O-ring sizes arbitrarily. If necessary,
please contact our Company.

4. In the case of light and thin workpiece, please fix the workpiece temporarily
according to the demand, otherwise the workpiece will be damaged.

5. The retum of cleaning air pressure will cause the piston rod to be unable to
reset if air is supplied all the time.

6. If the piston rod rising speed is too fast, it will cause the phenomenon of
rebound when the piston rod contacts the workpiece, and damp at the
rebound position, which will cause the gap or impact between the piston rod
and the workpiece, leading to the damage of the internal parts. Please adjust
the rising speed of the piston rod through one-way flow control valve so that
the rising action time is more than 0.5-1 second, and confirm that there is no
gap and impact between the piston rod and workpiece before putting into use.
7. Please use a flow control valve with a one-way valve under the opening
pressure below 0.1MPa. If the opening pressure of the valve is too high, the
piston rod cannot be reset when released.

PNEUMATIC & HYDRAULIC CLAMPS | 094



CSP-ALPiHESTHS I SN R T

VEEERFE

CSP-ALPHESTIZHIMUR I R LEZBAIN TR IZER

oF w2
L &g
((E=IETEIR)
|
{
30°
24K
\ )
()
on
<
— LD
oF-0.1 \ ORUEIEB
T
S
’l\
TEAMTE
124K
BAOT o013 %2
C1 U__%
(- ‘ ORUBECK3
: : C0.2
gz —
21 328 ;
\
Max. R0.4 ‘
o HEEAL1
Max. @S Max. oP

095 | & i B & R 71

w@ FA+0.05 SR50
|
ORUEEA \ O
| L
i o g
—_—— ‘ L
|
I
IOFE ~
Q-Q
FREIE:

X1 HERFLVERARRN, BEEEHIDSANE.
YIBESRNEIRERE.

X2 LA IR BRA R E RS NN TE3.2SLA T,
X3 MIERIOBB ECELERIZESLNA.

NOTE:

X1: Vent hole must be open to the atmosphere, and
attention should be paid to prevent coolant, chip dust
and other intrusions into the cylinder body interior.

X2: The maximum surface roughness of the bottom of
the installation hole shall be processed below 3.2S.

%3: The attached O-ring EC should be installed in the
installation hole.

B4 Model No CSP-26ALP
A 49
B 57
C 63
D 72.5
%]3 10
oF 243
G 8.4
H 22
) (EEIRHER) 8
K (RATBEEXIRIE) M26X1.5
L (XTBEEXIZIE) M6X1
oM 95
N (HH25) 8
P 26
@S 75
T 24.5
U 9
OFA 45
FB 15
FC 3
FD 75
OFE 35
OFYEIEA (FtKHE fEEHs70) S5
OF/EEEB (FiRHE FEREHs90) AS568-013
OR/EEEC (FiSER FEEHS90) AS568-020

FREIE:

1. FEWREEES, SAITIHEEEESEISIETH, BRERIES,
FERIEEEE, KREOLEE, FHLERIHEIORE, BAIIIRER
WENREEEAEE, SEEHFRRSE.

2. AFESRTHEEER, AR NMRRESEEHEFE.

3. WMROHERIERER, FHLSRAER FNORERE, FrEEER
EthORBEIRY, EERERAALEIHEEHE.

4, BETHREMTHNERT, SRIEEREEEETY, SAEEITH
WIRFEAIRES,

5 RIS RERERE, BUHHRE, SRITERSEMERAEN.

6. RERE LTHREIRR, SENEEEEETHRHRMENRS, I
EEREERRER, EESERTHTHEEEREITMEE, BNABE
HEIR, FERBERREEH AR EEEN EAEEERE, LIEE EF
ENFISEIEO.S ~ 1L E, IHERESERET M EREHEEGRERE
BRNER.

7. E(EFRFIESR0.1MPaLATAIFEE MR EREER. WRRRIR
Bhides, EHESEEEmEmAEin

Unit:mm
CSP-30ALP CSP-36ALP CSP-45ALP
54 48 60
62 58 71
69 65 78
81 77 92
12 15 16
28.2 342 43.2
94 9.5 94
24 30 36
10 13 13
M30X1.5 M36X1.5 M45X1.5
M8X1.25 M10X1.5 M10X1.5
11.50 12.50 12.5
10 11 11
3 3 3
9 9 9
285 345 435
11 13 16
6 7.8 7.8
19 19 19
9 9 9
43 5 5
S6 S8 S8
AS568-014 AS568-014 AS568-015
AS568-022 AS568-026 AS568-030
NOTE:

1. Be sure to install the cap. Otherwise, the workpiece will not be able to
support the workpiece in contact with the spring. When the user makes the
cap, please refer to the Cap Detailed Drawing and set O-ring groove. Please be
sure to use the attached O-ring. Otherwise, foreign bodies such as coolant wil
intrude into the cylinder body and cause abnormal operation and other faullts.
2. The Company does not guarantee the correct action of the piston rod
when the user makes the rising spring by himself

3. If the O-ring is damaged or lost, please refer to the specifications of O-ring
in the catalogue, and do not change other O-ring sizes arbitrarily. If necessary,
please contact our Company.

4. In the case of light and thin workpiece, please fix the workpiece temporarily
according to the demand, otherwise the workpiece will be damaged.

5. The retum of cleaning air pressure will cause the piston rod to be unable to
reset if air is supplied all the time.

6. If the piston rod rising speed is too fast, it will cause the phenomenon of
rebound when the piston rod contacts the workpiece, and damp at the
rebound position, which will cause the gap or impact between the piston rod
and the workpiece, leading to the damage of the internal parts. Please adjust
the rising speed of the piston rod through one-way flow control valve so that
the rising action time is more than 0.5-1 second, and confirm that there is no
gap and impact between the piston rod and workpiece before putting into use.
7. Please use a flow control valve with a one-way valve under the opening
pressure below 0.1MPa. If the opening pressure of the valve is too high, the
piston rod cannot be reset when released.

PNEUMATIC & HYDRAULIC CLAMPS | 096



CSP-BLP;HESZISEI /MR TE

oFE o %
PRAFLL (==
\
30°
124K
_\ D
@)
o
<
U]
oF-0.1 : OF/EEB
T
S
'l\
ZERFAMTE
24K
EAOT 015 X2
C1 U _%
& < w OBIECx3
d ; C0.2 —
s 3 —
21 328 ;
1
Max. R04_ |
7L Heg7L«1
Max. @S Max. 2P

097 | &M E & R 5

VEEERFE

@FA+0.05 SR50

OF/BIEA | O
| L
i o g
—_—— ‘ L
|
I
IOFE ~
Q-Q
FREIE:

X1 HERFLVERARRN, BEEEHIDSANE.
YIBESRNEIRERE.

X2 LA IR BRA R E RS NN TE3.2SLA T,
X3 MIERIOBB ECELERIZESLNA.

NOTE:

X1: Vent hole must be open to the atmosphere, and
attention should be paid to prevent coolant, chip dust
and other intrusions into the cylinder body interior.

X2: The maximum surface roughness of the bottom of
the installation hole shall be processed below 3.2S.

%3: The attached O-ring EC should be installed in the
installation hole.

CSP-BLPHEBSTIZFI /MU R R LRI TR IR

8485 Model No CSP-26BLP
A 49
B 57
C 63
D 66
QE 10
OF 243
G 84
H 22
J (BERHER) 8
K (ATEEEXIRIE) M26X1.5
L (RIBEEXIZIE) M6X1
oM 9.5
N (EiE8) 8
oP 26
s 75
a1 24.5
U 9
OFA 45
FB 1.5
FC 3
FD 75
OFE 35
OFYEIEA (Fit5RHE [@EHs70) S5
OFEIEB (FUSHE MEEHs90) AS568-013
OFZEIEC (FiRHE TEEHs90) AS568-020

FREIE:

1. FEWREEES, SAITIHEEEESEISIETH, BRERIES,
FERIEEEE, KREOLEE, FHLERIHEIORE, BAIIIRER
WENREEEAEE, SEEHFRRSE.

2. AFESRTHEEER, AR NMRRESEEHEFE.

3. WMROHERIERER, FHLSRAER FNORERE, FrEEER
EthORBEIRY, EERERAALEIHEEHE.

4, BETHREMTHNERT, SRIEEREEEETY, SAEEITH
WIRFEAIRES,

5 RIS RERERE, BUHHRE, SRITERSEMERAEN.

6. RERE LTHREIRR, SENEEEEETHRHRMENRS, I
EEREERRER, EESERTHTHEEEREITMEE, BNABE
HEIR, FERBERREEH AR EEEN EAEEERE, LIEE EF
ENFISEIEO.S ~ 1L E, IHERESERET M EREHEEGRERE
BRNER.

7. E(EFRFIESR0.1MPaLATAIFEE MR EREER. WRRRIR
Bhides, EHESEEEmEmAEin

Unit:mm
CSP-30BLP CSP-36BLP CSP-45BLP
54 48 60
62 58 71
69 65 78
73 69 82
12 15 16
282 342 432
94 95 94
24 30 36
10 13 13
M30X1.5 M36X1.5 M45X1.5
M8X1.25 M10X1.5 M10X1.5
115 125 125
10 11 11
3 3 3
9 9 9
285 345 435
11 13 16
6 78 78
1.9 1.9 1.9
4 4 4
43 5 5
S6 S8 S8
AS568-014 AS568-014 AS568-015
AS568-022 AS568-026 AS568-030
NOTE:

1. Be sure to install the cap. Otherwise, the workpiece will not be able to
support the workpiece in contact with the spring. When the user makes the
cap, please refer to the Cap Detailed Drawing and set O-ring groove. Please be
sure to use the attached O-ring. Otherwise, foreign bodies such as coolant wil
intrude into the cylinder body and cause abnormal operation and other faullts.
2. The Company does not guarantee the correct action of the piston rod
when the user makes the rising spring by himself

3. If the O-ring is damaged or lost, please refer to the specifications of O-ring
in the catalogue, and do not change other O-ring sizes arbitrarily. If necessary,
please contact our Company.

4. In the case of light and thin workpiece, please fix the workpiece temporarily
according to the demand, otherwise the workpiece will be damaged.

5. The retum of cleaning air pressure will cause the piston rod to be unable to
reset if air is supplied all the time.

6. If the piston rod rising speed is too fast, it will cause the phenomenon of
rebound when the piston rod contacts the workpiece, and damp at the
rebound position, which will cause the gap or impact between the piston rod
and the workpiece, leading to the damage of the internal parts. Please adjust
the rising speed of the piston rod through one-way flow control valve so that
the rising action time is more than 0.5-1 second, and confirm that there is no
gap and impact between the piston rod and workpiece before putting into use.
7. Please use a flow control valve with a one-way valve under the opening
pressure below 0.1MPa. If the opening pressure of the valve is too high, the
piston rod cannot be reset when released.

PNEUMATIC & HYDRAULIC CLAMPS | 098



099 | S HEL RS

CSP-CIM;H[EE ETE5Y CSP-OMiEE F1E8Y ARIESFE
RESZISEIIMERTE RIS MERTE
o < o 2
oma & 2 oma &8
P o 1]
= ®MD 2
ol T T :
= > 71T \
T 7T o —
E 3.2
S \'S
fa) = ¥
[a)
< GJMHQ\
1S
oMJ
MN
& HfhMER I EIERASSIS I —E
B8 Model No CSP-26CM CSP-30CM CSP-36CM CSP-45CM
{78 stroke 6.5 8 8 10
CSP-COACIM 75.5 85 81 96
CSP-CO1BCIM 69 77 73 86
CSP-CJACIM 18.5 23 23 25
CSP-CO1BCIM 12 15 15 15
MA 9 115 12.5 12.5
MB 3 4 4 4
MC 8 10 11 11
MD 8 95 10.5 10.5
ME 12.5 115 11.5 11.5
MF 3 4 4 4
MG SR30 SR30 SR50 SR50
MH 2.5g7 3g7 4g7 5g7
MJ 6 75 8.5 8.5
MK 20° 45° 45° 45°
ML 0.8 0.8 0.8 0.8
MM 93 73 73 73
MN 1.7 2.1 3.2 3.2
MP 14 1.2 1.2 1.2
MQ 7.5 5.3 5.3 5.3
HEEIE  1.RISEEKRHEERE.03 ~0.15Mpa, HEEERASMCHIISA2-G, ISA3-GER/HERIES ;
2 BRSRBYRE TS RREHSHEROEERER, TSR EEE SRR s Htia.

CSP-DFECE ke

=

|
m | ‘
D
HERALEOX
M5x0.8i%5
OA
4-oDiEA
MFLOERF O a6

CSP-DFHE SIS Al E R RER IR

B8 Model No

A
B
@C
@D
@E
F
2G

K(2TEEEXIRIE)

2T
U

hEED PT1/8

CSP-26DF

40
29
34
45
8
9
54
M26X1.5
245
9

2K
45°
oT >
ol © A %
N A el
|
Yt
7/? 2 ©
|
12
X-X
FEEHIE:

X1 SR, VBFETRISERILENS, FiELRE.

NOTE:

1. When coolant and chips are likely to enter through the vent
holes, please connect the piping.

CSP-30DF

45
34
39
45
8
9
60

M30X1.5
285

11

CSP-36DF

51
38
45
55

9
12
68
M36X1.5
345
13

PNEUMATIC & HYDRAULIC CLAMPS | 100

CSP-45DF

60
47
54
5.5

9
12
80
M45X1.5
435
16

Unit:mm





